Dec. 8

Exam Review Q&A
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class A extends G {| |class B { class C extends G {
AO {2} BO {1} cO {1}
void m() { void bm() { void bm(){ 61;(8)8 é)}extends 4{
print("A.m"); print("B.bm") ; print("C.bm"); }
} } }
} } }
class F extends A {| |class G extends B {
FO {1} GO {1}
CIE:’)S {E}““nds B void bm(){ void bm(){ =
} print("F.bm"); print("G.bm");
3 }

*| 4 obi2 = new A();
« | opi = obj2;

b 4]

code, for each o

After executing the ab: wing method

I'ﬂ‘;_bib_’“ﬁ Ghoose... o
((F) obj)bm() | Choose... s
((A) ob\omO) | choose...

((€) 0bi) bW Choose.. s
((F) 0B} | ChoSem— —
(A) objbm() | Choose... N
((€) obi).m0) | choose...

(€) obibm() | Choose... s
((A) 0bi).m() | choose...

N
Consider the following lines of code: v\
oG obj = new C(); WF\ A

¢\>/

Nl

calls (involving type casts), choose the best description.
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Assume a non-empty integer array ns of length 3 and an j

eger variable i.

Consider the followyragment of code:

: {
. ins[i] % 2 == 1((Dfns. length < D)1 /I ‘

/ ystem.out.println("Outcome 1 J; ns

} {

else { d -

'6’ M System.out.println("Outcome 2"); s n (,
g &+ < md

When executing the above program, which of the following value or valueg of variable i will result in an
¢ ArrayindexOutOfBoundsException?
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[J f.“ None of the listed answers is correct.
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Consider the following classes:

- : [Vl
public class X{ public class B { public class C {
private String atti; private String att3; private String att5;
private C att2; private A[] att4; private Bﬂ atté;
} } }

For each of the private attributes, we assume that the corresponding public accessor (with the appropriate return type)
exists in the same class, e.g., accessor "public String getAtt1()" in class A, accessor "public A[] getAtt4()" in class B.

Say we are now in the context of some method in class B. For the following expressions (where i, j, and k are assumed
to be integers), choose all that are valid (i.e., succeed to compile).

/-;Kﬂ
[J a. att4[i].getAtt2().getAtt6 att4d [k].getAtt2().getAtt5()

(] b. att4[i].getAtt2().att6[j].getAtt4() [k].getAtt1() A ‘B
[J c. att4[i].getAtt2().getAtt6()[j].getAtt4().getAtt1() P AP,( { ’

O d. atﬁ[i].attdetAttG&ftﬁtﬁﬁ()[k].getAtt1() g(:j .

E@ att4[i].getAtt2().getAtto().getAttd () [j].getAtt1

=

[J f. att4[i].getAtt2().getAtt6()[j].getAtt

[] g. att4[i].getAtt2().getAtt6()[j].att4 [k].getAtt1()

(] h. attd[i].getAtt2().getAtt6()[j].getAtt4() [k].getAtt1()



